
CEM Select

Drag and Drop Practice

Complete each calculation by writing the missing sign + - × ÷ in the 

circle and the missing digit 0 1 2 3 4 5 6 7 8 9 in the box.

1 6 7 = 2

2 2 9 = 3

3 36 3 = 1

4 132 11 = 1

5 256 84 = 1 2

6 1,800 = 600

7 90 9 = 8 0

8 6.4 0. = 8

9 7 11 + 51 = 12

10 16 4 x 3 = 4



CEM Select

Drag and Drop Answers

Complete each calculation by writing the missing sign + - × ÷ in the 

circle and the missing digit 0 1 2 3 4 5 6 7 8 9 in the box.

1 6 × 7 = 42

2 27 ÷ 9 = 3

3 36 ÷ 3 = 12

4 132 ÷ 11 = 12

5 256 - 84 = 1 27

6 1,800 ÷ 3 = 600

7 90 × 9 = 8 01

8 6.4 ÷ 0.8 = 8

9 7 × 11 + 51 = 128

10 16 - 4 x 3 = 4

For questions 9 and 10, remember BIDMAS! We must calculate any 

multiplications before doing any addition or subtraction.
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